

Page No...

FIRST INFORMATION

FIRST INFORMATION OF A COGNIZABLE CRIME REPORT UNDER SECTION 154 CRIMINAL PROCEDURE CODE AT POLICE STATION-SAIKUL

Sub-Division: Saikul

District : Kangpokpi

FIR No. 102(7)2023 SKL-PS, U/s 380/435/436/450/454/458/307 34/141 IPC & 25(1-C) A.Act.

Corres to Zero FIR No. 0(05) 2023 SMG-PS u/s-do-

Date & Hour of Occurance: 3/05/2023 at about(unknown)

Property of the last of the la		Syd, a Labour (and a control of the	
Date and hour when reported	Place of occurance & distance from Police Station	Date of despatch from Police Station	
06/07/2023 At 9:30 am	At Ekou Village about 5 Km South	06/07/2023	

NB: A first information must be authenticated by the signature, mark of thumb impression of information

Name & residence of informant/ complainant	Name & residence of accused	Brief description of the offence with section and of property carried off, if any	Steps taken regarding investigation explanation of delay in recording information	Result of the case
Complt. S. Chaoba Meitei (69) yrs S/o (L) S.Ibobi Of Ekou Village Imphal East District, PS- Saikul. O.F. Attached Interior 23 Officer-in-Charge Saikul Police Station	Some unknowns Kuki villagers armed with deadly weapons number about 500	For committing theft,mischief by fire, house trespass, lurking house trespass/house breaking by night hurt,asault, attempt to murder with arms Punishable:- U/s 380/435/436/450/454/458 /307 34/141 IPC & 25(1-C) A.Act.		ASI Shonsek will investigate the case

Charge Charge Saikul Police Station Kangpokpi District, Manipur Designation Of Saiker - 05

Officer-in-Charge Saikul Pelice Station Kangpokpi District, Manipur

SL, (33)

Dated: 15th May, 2023

The Officer-in-Charge, Sagolmang Police Station, Imphal East District, Manipur.

Sub:- Humble request for taking necessary legal action for the offences punishable under Section 380/435/436/450/454/458/307 of the Indian Penal Code read with Section 34 & 141 of the same Code & Section 25 of the Arms Act, 1959 against the unknown Kuki Militants Armed with sophisticated weapons (now under SOO with the Government of India and Government of Manipur) and unknown Kuki Villagers Arms with deadly weapons numbering about 500(Five Hundred) for committing theft of my valuable properties, for committing mischief by fire thereby burning down my house, house trespass in order to commit offence punishable with imprisonment for life i.e. mischief by fire to destroy my house, lurking house-trespass or house-breaking by night after preparation for hurt, assault, etc. and also attempt to murder coupled with a prayer for taking appropriate to resettle us at our house/place.

Sir,

I, the undersigned have the honour to state the following for your kind perusal and appropriate legal action against the unknown Kuki Militants Armed with sophisticated weapons (now under SOO with the Government of India and Government of Manipur) and unknown Kuki Villagers Arms with deadly weapons numbering about 500(Five Hundred)for committing theft of my valuable properties, for committing mischief by fire thereby burning down my house, house trespass in order to commit offence punishable with imprisonment for life i.e. mischief by fire to destroy my house, lurking house-trespass or house-breaking by night after preparation for hurt, assault, etc. and also attempt to murder.

I am the owner of a piece of land situated at Ekou Village under 1-Khundrakpam Assembly Constituency. I and my family have been residing in the said house peacefully without giving any interference to the other persons.

On 03/05/2023, a Tribal Solidarity March/Rally was held in the hill district of Manipur more particularly at the area were the Kuki Tribes reside. The said rally was sponsored by the All Tribal Student Union, Manipur (ATSUM) and in Churachandpur District, the Kuki Militants who are now under SOO with the Government of India and Government of Manipur had also participated holding with sophisticated weapons. Thereafter, the Kuki Militants started to attack the villagers situate nearby Churachandpur District and also demolished many houses more particularly Meitei houses.

To

The Kuki Militants with the support of the other Kuki villagers armed with deadly weapons numbering about 500(Five Hundred)also opened fired at the villagers of Ekou Village where I am residing with my family. Because of the said firing, me and my family while trying to left our house to safe our life. The Kuki Militants and other unknown Kuki Villagers thereafter committed theft of my valuable properties. mischief by fire thereby burning down my house, house trespass in order to commit offence punishable with imprisonment for life i.e. mischief by fire to destroy my house, lurking house-trespass or house-breaking by night after preparation for hurt, assault, etc. and also they attempted to murder the villagers of Ekou Village including our family and at present me and my family are staying in the relief camp situate at NB Collage, Khundrakpam (The details of property damaged/theft by the unknown Kuki Militants and other unknown Kuki villagers as Annexure-A.

In view of the facts stated above, I request your goodself to register a case against the unknown Kuki Militants Armed with sophisticated weapons (now under SOO with the Government of India and Government of Manipur) and unknown large Villagers for the offences punishable under Section numbers of Kuki 380/435/436/450/454/ 458/307 of the Indian Penal Code read with Section 34 & 141 of the same Code & Section 25 of the Arms Act, 1959 and book the culprits in accordance with law. The properties so looted by the unknown Kuki Militants Armed with sophisticated weapons (now under SOO with the Government of India and Government of Manipur) and unknown Kuki Villagers arms with deadly weapons be recovered from them and necessary action be taken up to resettle us at our house/place in the interest of justice.

This support is toward as an OE of can fix. No. 2001 (1) 2013 SM9-PS U/S 380/485/486/450/459/ 458/207/34/141 IPC L 25 (1-C) A. ACT.

8. Chasba Meilei S/o:(L) S. Ibobi Meitei Permanent resident of 18974379459 Ekou Village, Imphal East,

Now residing in

NB Collage, Khundrakpam Relief Camp. Imphal East, Manipur.

DOB = 04/03/1954.

Officer-In-Charge Sagolmang Police Station

Imphal East District This hopest is tretreated as an on of from 102(4) 2023 seci- 85 U/s 350/405/436/400/454/458/207/34/141-18C 2 250-0) A. Act. Comment to 2000 fiano. 0 (05)2025 Sm4-18 W/s-40: [Malifeld 2023 00/Karland 18

Officer-in-Charge Saikul Pelice Station Kangpokpi District, Manipur The following properties of my house were damaged in the incident:

SL.NO	PROPERTY	VALUATION	
1.	FURNITURE ÎTEMS	Rs 7,32,000/-	
2.	ELECTRONIC ITEMS	Rs 3,06,3001	
3.	CONSTRUCTION MATERIALS	Rs 1,26,140/-	
4.	CLOTHING ITEMS	Rs 13,38,500 -	
5.	MISCELLANEOUS ITEMS	Rs 9, 16,500 -	
6.	ORNAMENTS	Rs 3,00,000 -	
7.	CASH	Rs 4,00,000	
8.	CASH FOR MARUP	Rs 51.35,000	
9.	NEW HOUSE WORTH	NS 31172	
10.			
12.			
14.	Track Ame	ount: R. 1 DD. 67.94	

Total Amount: Rs 1, D2, 67,940 -

ONE CRORE TWO LAKH
SIXTY-SEVEN THOUSAND
NINE-HUNDRED FORTY

* N.B.: Details of the property damage has been enclosed on separate paper (7. nos.)

KNITURE ITEMS: P-1(one) - 04 × 38000 = 1,52,000 |-- 03 x 33000 = 99,000 -Almirah Six face - 01 x 80000 = 80000| Almirah five face __ 01 x 55000 = 55000f Almirah four face - 02 x 39,000 = 78,000 |c) Iron Goding three face - 02 × 16000 = 32,000 |-7) Leather Sofa Set (five Seater) - 01 x 45 000 = 48,000)-8) Dinning Table (six Seater) - 01 x 40000 = 40,000 |-9) TV Rack with Drawer - 01 x 23000 = 23000 |-10) Wooden Hanger with Shoe rack - 02 x 9500 = 19,000 |-- 01 x 7000 = 7,000 |-11) Gas Box - 06 × 6500 = 39,000 |-12) Bed Side Table 02 x 22500 = 45,000 -13) Dressing Table 02 x 5000 = \$ 19000 |-4) Iron Rock 01 x 5000 = 5000/-15) Shoe Rack Total = 7,32,000/-

```
long!
                                              format.
  Samsing Smart LED TV 49"- 01 x 65000
                                          = 65,000/-
  Hashing Machine whispool sky - 01 x 17000
                                          - 17:000 -
  Refrigerator 180 Ltr - 01 x 16000
                                          = 16,000 |-
                                          = 28.000 -
4) Inverter with Tubular battery 12v_ 01 x 28,000
5) Water motor 54p with pipe _ 01 x.15000
                                          = 15,000 |-
    20 feet x 15 ms
6) Water Pump Tube 2 4p - 01 x 12000 = 120001-
1) Electric moter for Ria Mill - 01 x 22000 = 22000/-
8) Stand fan
                          - 03x 4700 = 14100/-
9) Ceiling fan (Bajaj) - 04x 4200 = 16,8000/-
                         - 03 x 1900 = 5,700/-
10) Water Broiler
                        - 02 x 8000 = 16,000/-
   Over (Murphy)
   Rice Cooker (5Ltr) - 03 x 3200 = 9600/-
 12)
 13) Press Iron (Bajaj) - 04 x 2200 = $800/-
     Electric lamp (Bajaj) - 02 x 2300 = 4,6001-
 14)
                         - 02 × 3000 = 6,000/-
 15) Room Heater
 16) June son Rod - 03 x 700 = 2100/-
     1 qua quard RO water function = 01 x 12500 = 12500 |-
 17)
                             01 × 10500 = 10,500-
  18)
     Geysor 20 Ltr
      Induction
                             02 x 4,200 = 8400/-
  19)
  20) Coffee Maker
                       - 01 x 1800 = 1,800/-
  21) Juicer Mixer Grinder. - 03 x 4800 = 14, 400/-
```

Total = 306300/-

DUSTRUCTION MATERIALS

4	THERIALS	The professional services
Phylocod u've"	By: Cate:	P-3(Thru) Amount:
2) 100mm Supreme Pir	- 38 × 1200	= 45,600/-
3) Taurus OT set Ku	- 04 × 600	= 2,400 -
	mud - 01 x \$1350	= 1,350/-
4) Water flush	01 x 10 50	= 1050/-
5) P. Tu	- 05 x 250	= 1250 -
6) 45° Band	- 04 x 160	- 6401-
7) 7- band	- 04 × 160	= 6401-
8) 75 aum Suprome fin	- 04×400	= 1.600 -
9) 45° band	- 03 x 110	= 3.60 -
10) bask wire coil	- 3100 X2	= 6,200}
(pipe 17- junction + joint +		= 12,000 -
		= 28,800 -
12) Brick 1st class	- 1600 x18	
13) 8 mm Iron Kana	Ann - 45×352	= 15,850/-
14) 25 mm band		= 8,400/-
	Total	al = 1,26140/-

Man and a second	0	By Rate	-P-4/Foas
Sleepwell Mathras Double b		4 tan	Amount-
Sleepwell Matters Double bo Sleepwell Matters single to		04 x 22,00	0 = 88,000 -
[C - 0 V +	ped -	- 03 x 1900	
3) Phamjao set		01 x 50001	250,000 -
4) Budsheet New		35 x 200	= 24,500 -
5) Curtain -		20 × 600	= 12,000 -
6) Rani phi		05 × 15,000	= 45,000
7) Phige Phanek		04 x12000	= 48.0001-
		03 × 10,00	20001-
8) Phanele Khwang 9) Blanket		12 × 3,000	= 36,000 -
		D4 x 1500	(0001-
10) Jumbo Box with full clothe 11) Phanck Mapan Naiba		40 x 2200	= 88,000 -
12) Phanek One ply	-	400 x 500	= 200,000/-
13) Phanek Two phy	-	40 x 350	= 14,0001-
14) Phanek Pasmina	_	100 x 500	= 50,000/-
15) Muka Suit	-	10 × 10,000	- 000,000 -
16) Wangkhei phi	-		= 80,000 -
17) Casual clothus	-	80,000	= 80,000 -
18) Shoos including sports shoe 19) Cloth for children			=1,00,000 -
19) Cloth for children	-		2.00,000 -
			etal = 13,38,500/-

Total = 13,38,500/

CASH. PG(Six) By. Rat Amount Nechba 02 x 2,00,000 = 4,00,000/-(2.5 Tob) Ring 03 x 28,500 = 85,500/-(11/2 san) 3) Necklace (darge) 3,00,000/-4) Ear Ring 2, 28,000/-03 x 76,000 (4 san) Total = 10,13,500/-3,00,000/-CASH 4,00,0001-CASH & MARUP Total = 7,00,000/-

FORNITURE ITEM = 7,32,000/-

ELECTRONIC ITEM = 3,06,300/-

6) CONSTRUCTION MATERIAL = 1,26,140/-

4) CLOTHES = 13,38,500/-

5) MISCELLANOUS 17EMS = 9,16,500/-

6) ORNAMENTS = 10,13,500/-

7) CASH =7,00,000/-

Gent Total = 51,39,940.

NEW HOUSE WORTH : 51,35,000

Grand Total = 1,02,67,940/-.

ONE COOPE TWO LAKH
SIXTY-SEVEN THOUSAND
NINE-HUNDRED FORTY